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For full credit ALL work must be shown NEATLY on the exam. Ten points will be deducted off
the top for “messy” work! Any “valid” checks are worth an additional point per question.

FOLLOW DIRECTIONS! Ask if you are not sure what is being asked!

Simplify the following. Note: Make sure you are following the “correct” Order of Operations by
showing all appropriate steps

Simplify the following rational expressions:
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Simplify the following completely.
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Convert the given decimals in to fractions.
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Solve the following rational equation: P _
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Simplify the following radical expressions:
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Find the value of ¢ that completes the square.
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Solve the following equations (for the specified variable).
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14.) Write the equation in Standard Form of the line that passes through the points
(—2,5) and (6,—8).
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Bonus (5 points). Show that h = ﬁ is the solution of c = 5 + % by substituting in C—fg forhin
the equation. DO NOT just solve the equation for h!
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